Pre A1 Starters: Transport Date: Name:

4 \ 4
boat 0 o

L J L

4 \ 4
drive a lorry (UK) o o

L J L

4 \ 4
fly a plane O o-

L J L

4 \ 4
fly a helicopter |o o-

L J L

4 \ 4
ship el o

L J L

4 \ 4
drive a car ) o

L J L

4 \ 4
swiminthesea |o o

L J L

4 \ 4
go on a bus —O o-

L J L

4 \ 4
run on the beach o o

L J L

4 \ 4
ride a bike ) o

L J L

4 \ 4
truck (USA) o 0




Pre A1 Starters: Transport Date: Name:

‘" Write the correct letter in each space.

A. boat 1.
B. drive alorry (UK) 2.
C. flyaplane 3.
D. fly a helicopter 4,
E. ship 5.
F. driveacar 6.
G. swimin the sea 7.
H. goonabus 8.
l. runon the beach 9.
J. ride a bike 10.
K. truck (USA) 1.



Pre A1 Starters: Transport Date: Name:

AD ship BD goonabus
() boat D[ ) ride a bike

AD ship BD goonabus

c( ) fiyaplane D[ ) fly a helicopter

s runerer S e T S

A D ride a bike D O run on the beach

B O fly a helicopter
c D drive a car

D O drive a lorry (UK)

1
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1
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1
2. ' 8.
1
1
1
1
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1
1
1
A O drive a car B O run on the beach : A O drive a car B O run on the beach
1
C D ride a bike D D boat : c D ship D D ride a bike
1
3 L9
. 1 .
A D swim in the sea '
1
B[] truck (UsA) :
1
c D drive a lorry (UK) :
1
D O go on a bus :
! A i B
. D drive a lorry (UK) D truck (USA)
4, '
A O drive a car ! c O run on the beach D O swim in the sea
1
1
B D drive a lorry (UK) : 10.
' F A O swim in the sea
C . k '
O ride a bike . 5
. D run on the beach
D D fly a plane '
1 .
. c O drive a car
1
5.
A O drive a lorry (UK) : D D ride a bike
1
B D fly a helicopter : 1.
' AL ship
c O ride a bike :
' B[ ) truck (UsA)
D) ship :
! c D drive a lorry (UK)
1
6. '
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1



Pre A1 Starters: Transport Date: Name:

ride a fly 3
blke helicopter

drive
boat a lorry

(UK)
go on fly a
a bus plane
drive .

ship
a car




truck
(USA)

SWim
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run
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beach
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